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QUESTION 1

Which unit of measurement is a relative unit that is used to quantify power level changes?
A. dBm

B. dBW

C.dB

D. mW

E. VSWR

Correct Answer: C

QUESTION 2

When planning an access point deployment that utilizes Power over Ethernet (PoE) switches at the network edge, what
design decision could adversely affect the operation of 802.3af APs?

A. All ports on the Ethernet switch will be supporting Class 3 PoE powered devices.

B. Some APs are connected to a POE switch and are also receiving power from an AC outlet.

C. The Ethernet switch\\'s uplink ports are not connected to an 802.3af-compliant core or distribution Ethernet switch.
D. A gigabit Ethernet switch port supporting an 802.11a/g AP auto-negotiates to 100 Mbps.

E. The installation team is not informed that PoE support will reduce the recommended maximum UTP cabling length
from 100m to 50m.

Correct Answer: A

QUESTION 3

What problems may exist for a multiple channel architecture (MCA) WLAN when its APs are all operating at full power
(typically 200mW)? (Choose two)

A. Wi-Fi enabled voice handsets with low transmit power can experience asynchronous downlink and uplink
performance.

B. WLAN client stations can experience the hidden node problem when located near each other within the same cell.

C. The mismatched power between WLAN client stations and APs violates regulatory and IEEE signal quality
requirements.

D. Cell size may be too large, causing co-channel interference to adjacent cells and reducing system capacity.

E. APs operating in the 2.4 GHz band would prevent microwave ovens and analog video cameras from functioning.
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Correct Answer: AD

QUESTION 4

What component of the 802.11 standard allows stations to reserve access to the RF medium for a specified period of
time?

A. Long slot times

B. DTIM Interval

C. Listen Interval

D. Probe Request frames
E. RTS or CTS frames

Correct Answer: E

QUESTION 5

What statement about 802.11 WLAN performance is true?

A. Use of larger frame sizes results in greater throughput in low interference environments.

B. BSS support for 65 KB A-MPDUs will increase the maximum data rate available to client devices.

C. In 802.11n, changing the security mechanism from WPA2-Personal to WPA2-Enterprise will enable the HT MCS
rates.

D. Compared to an Independent BSS, an Infrastructure BSS can provide almost twice the throughput between wireless
nodes.

E. Use of short guard intervals improves reliability and throughput in high multipath environments

Correct Answer: A
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